No. Changes and/or Note No.

Date Intr

No | Changes and/or Note No.

Date Intr

38.22

15.6

36.13

325

3

18.4
12.5

9.0 @1.0 5.0 @4.0
OE e o A o‘k o|4)o o |4 o‘l
o} e} o} o}
/ \ /T 1\ /1]
E \ j / \[ I/ \[] >:|
C 1 i 2
o 1 1 Top-D45PPK-9 Cover
Part Number: Description: Pack: 2 1 Botiom-D45PPK-9 Cover
3 1 D45ZK-D1 Grommet
; 4 2 M3X11.5 Screw
6560-0107-11 MHD45PPK-09-BK-K Kit - > i o
_NO. 6 1 UNC 4-40X32.5 Jack screw
6561-0107-11 MHD45PPK-09-BK Bulk Item Qry Part Number Description
DATE: DRAWN: SCALE: MATERIAL TYPE:
2008-09-25 YGY
Auditing: APPROVED: REPLACES:;
MH =&
ICONNECTORS MHD45PPK'SER|ES DRAWING No:




No. | Changes and/or Note No. Date |Intr |[No | Changes and/or Note No. Date | Intr
@ N
w <
15.6 40
@9.0 @7.0 5.0 24.0
|
cg A p‘l o 4 Jo o|4)o o (4] g
o o] o o]
\ / \ T\ /_>:|
[ \ [ \[ 1/ \[]
fdj f
1 1 Top-D45PPK-15 C
Part Number: Description: Pack: 2 1 Bgﬁom_D45ppK_15 cﬁﬁ
3 1 D45ZK-D1 Grommet
_ _ _1E_RK. i 4 2 M3X11.5 Screw
6560-0107-12 MHD45PPK-15-BK-K | Kit : ; T T
i 6 2 UNC 4-40X32.5 Jack screw
6561-0107-12 MHD45PPK-15-BK Bulk Item QTY Part Number Description
DATE: DRAWN: SCALE: MATERIAL TYPE:
2008-09-25 YGY
Auditing: APPROVED: REPLACES:
MH =@
ICONNECTORS MHD45PPK'SER|ES DRAWING No:




No. | Changes and/or Note No. Date |Intr |[No | Changes and/or Note No. Date | Intr
0 g
™

———
—
=3 - - —
15.6 54
/é
s’
©
41.4
47
@9.0 @70 5.0 4.0
|
cg Ao o 4 Jo 0|4 o|8)o
o o o o]
\ / \ /| /_>:|
[ \ [ \[ ] \[]
fd E 0 ol f ol w9a
Lo 1 1 Top-D45PPK-25 Cover
Part Number: Description: Pack: 2 1 Bottom-D45PPK-25 Cover
3 1 D45ZK-D1 Grommet
. _ _9E_RK. i 4 2 M3X11.5 Screw
6560-0107-13 MHD45PPK-25-BK-K|  Kit : - 3 T
5 6 2 UNC 4-40X32.5 Jack screw
6561-0107-13 MHDA5PPK-25-BK Bulk Item QTY Part Number Description
DATE: DRAWN: SCALE: MATERIAL TYPE:
2008-09-25 YGY
Auditing: APPROVED: REPLACES:
MH =&
ICONNECTORS MHD45PPK-SERIES ORAWING Noi




No. | Changes and/or Note No. Date |Intr |[No | Changes and/or Note No. Date | Intr
@ !J :
® S
L() ﬂ-
ol
o
- .
15.6 70.3

Lo 1 1 Top-D45PPK-37 Cover
Part Number: Description: Pack: 2 ] Bottom-D45PPK-37 Cover
3 1 D45ZK-D1 Grommet
6560-0107-14 MHD45PPK-37-BK-K |  Kit 4 3 M3X11.9 Screw
5 3 M3 NUT
27 6 2 UNC 4-40X32.5 Jack screw
6561-0107-14 MHDA45PPK-37-BK Bulk ltem QTY Part Number Description
DATE: DRAWN: SCALE: MATERIAL TYPE:
2008-09-25 YGY
Auditing: APPROVED: REPLACES:
MH =@
sl MHD45PPK-SERIES DRAWING Not




